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lIJuulisgd 9luadlzol

lJpzogslo




lJp 95,00

S 03l lJpwows st luwod Gl puvdJle wr9e9dsd wozse IJewhs Ilgds Idezume
(EIGRP) IJIJe; Lvssel sluadlizol.

lJeobdole |Jiuu|u.u..§6
lJeobdolo

Jl 092> polbdule 2luos Josl 1dpuuaws.
IJedoule [Jpuespd

ouvows Ideedspele 1Ul)e WOs 03l Idpuwews |Js Cisco l10S® Jusose IJuwddslo
lJpgodds ldos spdu pslzowol pg 03l 1w 90999,

ope logvle Idpgdgple 1U9l)6 Bs o3l IJpuwows pu Uig_o_jé 1J 92956 WOS wSis6 pgpdso ¢luos.
wlo gpse IJlzojé Iqu»o@pE: WO o3l Iquuoo{.__Jongtﬂso PPUNIT {IJQJIUbQ). LBIIJlye
wwedod 9 IJogvgsd wolds po Wopd Jdules) Idpzopd Jls le).

ped9ple Ivluss

030 o IUbugdsgs! Idpuwegsrps Vs o3l ldpuuwews:



Lol

Lod
10.700.1.4f32

E1/0

10.2.1.4 %

5210 172.16.1.4

52/0 | 1721615

10.100.1.2/32
EQ/O @ E1/0
LoD 10.1.1.2 10.21.2
10.100.1.1/32 —
% 10.1.1.1 LoD -
10311 10, 1080 1. 332
=200 EQSO @ E1/0
10.71.13 10,213
10.3.16 | S2/0
-
192 168.16
Lod

192,168 100.6/32

s -
192.168.1.5

Lod
172.16.100.5/32

oo Ul wle 1Jeldsé weuo puvldd EIGRP IJIYe, ussgl sweuo IJodpsele 29d Jsdsé

Ioveduuled IJeuuddle sluadlizol.

iudu Ilzoje [Jegle,)s

lo IJpudJs 1ozs»s IJIde, u;io..___sgg_T IJos oop pdlzowel g0 luwagsle EIGRP os lue JI suuiis
bl vuvdd Loese. ould £36 luwoly pzweds J3JU:

TN Itj@ Ubuos PU 920 IJ!:)LJ»U (MTU)
s NJlogold lzhbhs Idlegle (Lhoolble lzlbss Idleglo)
* 09 pubddo Vs IJwe IJpwes eds IdLoulb

« puvddle oo IJighs

« pupddle 296 IJLoulb

.« puvddle IJpuol> §6

* puvddlo lJodssu IJglbs

31 Jp ou?oJ,o _)cu,ulJé EIGRP Hello. bJo copdy pu 1986 1Jzols IJezl, Bs Blises 1Jizo;6
lJezloys. 1bed IJlp, show ip eigrp neighbors Jg, o pedople zolj EIGRP IJezly) 9235 IJpuudJé:

<ffroot>
R2#

show i p eigrp neighbors

IP-EIGRP neighbors for process 1
H Address Interface

3 10.1.1.1 Et0/0

Hold Uptime SRTT
(sec) (ms)
12 00:00:48

RTO Q Seq
Cnt Num



0
2 10.1.1.3 Et0/0 12 02:47:13 22 200 O 339
1 10.2.1.4 Etl/0 12 02:47:13 24 200 O 318
0 10.2.1.3 Etl/0 12 02:47:13 20 200 O 338

Il Joo weods 1o 1dzsh @ wp odssue: s3I0 Jsuw Jrsd Idubisle IJos sew lu oogdpol
p0 3JI 1pzle): c2dd eu ezl Ile) Iduwlod: I3l Jlo £33 qlsel ) Lods: B> sdsu
ol 8Js lo wdw 2jp EIGRP sep lglss buwldel wluwep,b. bed 1Jle, show ip eigrp
neighbors detail JJczdd el 131 v biuwld 1Jgipé obuwel slisells JL. 131 Jlo I $e
IJouwduvds JJzies Iisds o9 odwo slisel sgls buwld 1258 wduwel I Tz2d £y puwps:

<ffroot>

R2#

show i p eigrp neighbors detai

IP-EIGRP neighbors for process 1

H Address Interface Hold Uptime SRTT RTO Q Seq
(sec) (ms) Cnt Num
3 10.1.1.1 Et0/0 11
00: 00: 08
1 4500
1
0

Version 12.4/1.2, Retrans: 2, Retries: 2, Waiting for Init, Waiting for Init Ack
UPDATE seq 350 ser 0-0 Sent 8040 Init Sequenced

2 10.1.1.3 Et0/0 11 02:47:56 22 200 0 339
Version 12.4/1.2, Retrans: 11, Retries: 0, Prefixes: 10

1 10.2.1.4 Et1/0 10 02:47:56 24 200 O 318
Version 12.4/1.2, Retrans: 10, Retries: 0, Prefixes: 8

0 10.2.1.3 Et1/0 11 02:47:56 20 200 O 338

Version 12.4/1.2, Retrans: 11, Retries: 0, Prefixes: 2

Spdud o oys Bs IUIE)lz 1o 0uld puvdJs wldzols IJeels, 1Jisd: s p lelss wesse 98w
NENTXN]

pu ldpop o 0oz dd pel 131 Jlu EIGRP Jpszo g pduss seoss edis 1Jle, eigrp log-neighbor-
changes. 90¢ 3JJ: swp wuopsu 03l 1Uley wuvdd lWe,)lios Jeg )y IJgbl oo Cisco
CSCdx67706: J3JJ Jl sbo,y Vs lJodsy B 030 lJzlds. wz 9l pu IJbEld Vs Idyvedle
JJzolisu Ipzlosse J- EIGRP gJs JJ zlow oo 29luw IJboulb. B sl eds 1JIEJ po
IJwzdlo: szo 1o $Is0 ould 15gld 39 peus.

Bsel sds zese ipvolo 1dezopds Jogssy 2sb EIGRP gbgldle Iuwed 1glu0s wo:


https://tools.cisco.com/bugsearch/bug/CSCdx67706

Je sop luvadle 2506 EIGRP luule o0 IJogbJ:

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.1 (Ethernet0/0) 1is down:
holding time expired

Je sop lUee s eJs 256 09986 J- EIGRP Lo ey 23 lghs 1 pzleds:

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.1 (Ethernet0/0) 1is down:
retry Timit exceeded

SuS EIGRP 1Jglzos W 2lds webJ:

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.3.1.6 (Serial2/0) 1is down:
interface down

luvedod IUpszo 2ipd ceass I9dss slgh wuvgsd 1Jzols 1Upels:

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.1 (Ethernet0/0) is down:
peer restarted

luwodod [Jeszo 25p6 wesse 19Jss 9 udd welo,l gasol:

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.1 (Ethernet0/0) 1is up:
new adjacency

op Iogld 1Jle, clear ip eigrp neighbor. 960z £00 puwE S9!

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 172.16.1.4 (Serial2/0) 1is down:
manually cleared

Op UESS) uslu IP gJds [Uglzos:

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 192.168.1.5 (Serial3/0) 1is down:
address changed



U oié§J/oé§.§J IS e Idubly Ide)sss gds 1Uglgos:

% pdlebo: Jl spae 3JdY Ul B luoshle 1U)e9) 1U@3806. o0l pl oo pzlo) 598096 pud
cisco 9 id CSCdp08764.

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.3.1.6 (Serial2/0) 1is down:
metric changed

© sop odsso Bse K ouudd ¢lbs Iy sz lsdled wuvgsd uvduw:

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.4.1.5 (Ethernetl/0) 1is down:
K-value mismatch

© sev lsdlu IJogvgsd duvduw:

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.1 (Ethernet0/0) 1is down:
Interface Goodbye received

* wp owdIsy IJiroJ ip authentication mode eigrp 1 md5 gJs [Jglgos:

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.3 (Ethernet0/0) 1is down:
authentication mode changed

* 20w gpdss lghs wubgsd uwduwdllgls wozso w9 w9 §d (NSF):

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.2 (FastEthernetl) is resync:
peer graceful-restart

* SUp pUNT I,Jiaojé lJpeeleyd IJos wp huwld luvoedlple 90 55 [Jsol:

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 192.168.1.16 (Serial3/0) is down:
stuck in active

euuddle IJgbodo


https://tools.cisco.com/bugsearch/bug/CSCdp08764

wubsy 0o ldpuudJle 1Ugeuw 1Us 9295 puvdJs Bs IJubods:

s 2ldé ldogdsy 8 IJugsll (SIA)

* 98w webd puwos IUuodleso

o 2 lebé ldpelads IUss wp welgjo

c ubs) wpu lebs wuvgsdo

© sop buwld opase bds @wd 2jpeé Hello

SIA
Jlze Suwe SIA B o3l Idpuows.
locow Lodlzsd pydw lJogbd

Subs) LS8 IJogbd pucos lduadlzss [Js o 1deszo Jo suvodod bs 2506 EIGRP (s 2506
EIGRP Hello Ig Is 25006 EIGRP 13,5) loule ISl od 1Ujpus J9dw Idegbd. 98ds IUbze wog>
pubddo Vs IUhoulb Ws oo IJzlJs.

Sedd pu lu 1dpsze suwedud 2ie EIGRP Hello gJs o3l IULoolb sy 1Jzlow 1J1E) s uvdol.
JJozdd pu 3Jd. béd 1Jie, debug eigrp packet hello. Jossd Jluveésle IUie, debug. spdodd
lteol logold gously IP 224.0.0.10 9ldwe 88 eel 131 I o3l 1Jzols Idezle, 0o 1o JI. 1o IJlguole
|JPCQPJ6WJPQDGJJ5 IJoo Idpeess eds Idhoolb os vuvew puvddle WS 1Uglgoos: ped I3
JIo 1Jpwsd 1douwshb szb, 250 EIGRP Hello.

2ol st 18 sedod [lde 09 czywd wiswsdsd I8 suveese guslo IP Jdos 1dpogss.
seds wosd Idpolde spdud ©dssu wi9wadsd pedsele IJeszse (RIP) IUluesl 2 1d5s
Suwwede euslu IP Jdoo IJpeogss> 224.0.0.9.

we oely o el [Jpeeledo

SULS) T Igbo IJpzlods IUss wp welgjo lds lue Jp swp I.Ju&,d eds 2ipd p9e9 96 J- EIGRP
£36 pylo. u&.) lJzied 1Jp9e996 pu EIGRP glgsé oy 030 IJluglg_ lJgpuwd pu 1Jg)p:

* LPISY

. |UAJQE_J|p

>

. lowoedle SIA
« »SIA

oo g8 Luwld 25es EIGRP 19996 16 0,6 edis 18- cop lghs buwld 2508 B I pods
JIglss 1Jbuwld (RTO). sedé 23 RTO IJbos 200 edJs eloss sldes IJiduas 09 5000 edds
oloss. &3> RTO Iy codue ssulesdsl po gdld pildus [2odld 1Usde wso 1Jsde 1Jss sop
Vs huwld 2jed EIGRP 1J098996 9ldsSe IJss swp Wso lgwadle Iledle. sgwsel Jl sop
IUledle £ 1Jz506 1J09¢986: s> RTO. I3l luwe ey 050 1dpuudJé. Buweiss RTO wuwygé
oupd s gpuw wslus J3Jd sedu 1o suad 2 lehs 1pzlsds IJs 16 % 5 esly = 80 eluss. 9pg
5JI. 3l Ul jpo wgbd EIGRP 1do, po 80 Sloss. BJo sogbd 1Jzsly 206 sucos jeu
lJogbd. spdy o S d3JY Vs J9lol WAN IJolbsiss pse sYyu gds uwesd Idpeld: jeu



IJogbd IJIVe,)los 09 180 wluss.

guldouwws Jdoslub sle 1e06 welbd 18J pu 80 &luss: sgws 3JY wuvdd Beld o 131 Jp
Suwos jeu ldogbd W wsop ldlzovlb o wylywbo e EIGRP Hello. 9spJyu g 3JY wely)
2> lebo ldpelads. subs) 03l lJs 929> el pundJé Ws MTU |9 Ipu.quJo IS lJow Ulabs e
EIGRP Hello _ogs,6¢ spdu o ouod 2iped wedse EIGRP (IJisJes) IJs MTU Jlod. spJdu I
SYIU wege MTU IJJled 31 Iy ould Lbisle JIvsse Jede Idogsse. Spdu wede ezl vy
luvodeld 2ip EIGRP pyzol 9dJdo JI spdu I Suee ozl 1Jdled 13l dp sop IJog s eds
2ipd wedsy EIGRP.

98136 0l sJ9u 03l 09 IUIE)lz 1Uss shbooy:

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.1 (Ethernet0/0) 1is down:
retry limit exceeded

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.1 (Ethernet0/0) 1is up:
new adjacency

S edlebs: lsooubl pu perd wuozse IJigble po Cisco CSCsc72090. s uwésp EIGRP Is ol
lesble IPMTU JJdglzos. 9od wbosd ol lJluadle: uwououe 2ip EIGRP pzsl6 13l wp
o J9su IP MTU L8sps 18J oo 1500. ghsé pl wpas 030 IJp i Jé B Lo Jle Dynamic
Multipoint VPN (DMVPN).

IJlzepld IJelus o9 1o 250 EIGRP Hello woougo Jivol gulid g0 v pogss 1Js gusly IP
224.0.0.10. spJdu oo 2ipe wedse EIGRP gedol: 2so Spdu I Od9u poeé IJos. 9pg
3JJi 0d90 2ip EIGRP 1p929.36 IJes el buwldel Tzlass IJwe slisal. 13l loglog puwly wislule
o Jizhs [Js 1zob 1Jpzles Sdo oo peldzs IJzies 1Jpsesds Ides Tess busldel wuudd
woese: lewws louold eusle IP Tzbs 1w JJzols IJpelsy J- EIGRP (e Jouwb zze ik, ping
eJs zee MTU IUIled Jdbho ol gpg Joub wo g3 Idogjsé (DF-bit)) Jdozds.

Spdu o soguou Idhoolb lzbs Idlozlo B 2298 030 IJpLivd b ls ol spdu 1o suwade
e9zo EIGRP ¢, EIGRP Hello. 9JJu 1Jzipe 1ol sop buwldol oo 03l ldpels, Jl credol eu)
IJboulb. 131 dp wuze e Hello B 3JJ: Yol sgus 1o 1Jpszo Jsuw eJs 2)lsé wlb)l Jive
Sop buwld 2ie Hello wuvdd &) 09298 Jl spdu ldeg)rd eds gip wpdse EIGRP IJos sope
LuwlJol.

Spdu o ool e EIGRP 109,986 19 IUledle. sopsd Ilgoul) Iduwse Bs Luwld sl
ping pg wpdsu Idoedd pu U)o

<tfroot>
R1#
pi ng

Protocol [ip]:
Target IP address: 10.1.1.2


https://tools.cisco.com/bugsearch/bug/CSCsc72090

Repeat count [5]: 10

Datagram size [100]:

Timeout in seconds [2]:
Extended commands [n]: y
Source address or interface:
Type of service [0]:

Set DF bit in IP header? [no]:

Val idate reply data? [no]: yes

Data pattern [0OxABCD]:

Loose, Strict, Record, Timestamp, Verbose[none]:

Sweep range of sizes [n]:

Type escape sequence to abort.

Sending 10, 100-byte ICMP Echos to 10.1.1.2, timeout is 2 seconds:

Reply data will be validated
ERRERERE

Success rate is 100 percent (10/10), round-trip min/avg/max = 1/24/152 ms

Sp wopdsy IJle, debug eigrp packets JJoz 88 pu Luwld 25 EIGRP Hello 9z, EIGRP
Update 9l wo9oldol d@j).;,&Z

<ffroot>
R1#

debug ei grp packets ?

SIAquery EIGRP SIA-Query packets
SIAreply EIGRP SIA-Reply packets

ack EIGRP ack packets

hello EIGRP hello packets

ipxsap EIGRP 1ipxsap packets

probe EIGRP probe packets

query EIGRP query packets

reply EIGRP reply packets

request EIGRP request packets

retry EIGRP retransmissions

stub EIGRP stub packets

terse Display all EIGRP packets except Hellos

update EIGRP update packets
verbose Display all EIGRP packets

Ssel sds pold wp9des Jpuvdds wp welys 2o lehs IpzlJs:

<ttroot>
R2#

show i p ei grp nei ghbors



IP-EIGRP neighbors for process 1

H Address Interface Hold Uptime SRTT RTO Q Seq
(sec) (ms) Cnt Num

3 10.1.1.1 Et0/0 12 00:00:48 1 5000

1

0

2 10.1.1.3 Et0/0 12 02:47:13 22 200 0 339

1 10.2.1.4 Et1l/0 12 02:47:13 24 200 0 318

0 10.2.1.3 Et1/0 12 02:47:13 20 200 O 338

% pdlzbé: ould slispl 2506 9lgs6 ig idc;) WO Ylisps IJluwlbly (Q CNT).

<ffroot>
R2#

show i p eigrp neighbors detai

IP-EIGRP neighbors for process 1

H Address Interface Hold Uptime SRTT RTO Q Seq
(sec) (ms) Cnt Num
3 10.1.1.1 Et0/0 10 00:00:59 1
5000
1
0

Version 12.4/1.2,

Retrans: 12

, Retries: 12,

Waiting for Init, Waiting for Init Ack

UPDATE seq 349

ser 0-0 Sent 59472 Init Sequenced

2 10.1.1.3 Et0/0 11 02:47:23 22 200 0 339
Version 12.4/1.2, Retrans: 11, Retries: 0, Prefixes: 10

1 10.2.1.4 Et1/0 11 02:47:23 24 200 0 318
Version 12.4/1.2, Retrans: 10, Retries: 0, Prefixes: 8

0 10.2.1.3 Et1/0 10 02:47:23 20 200 O 338

Version 12.4/1.2, Retrans: 11, Retries: 0, Prefixes: 2

Jpl 09 p9 o2 Os ISz suwlb) R2 2506 IJoesse Uigds (initbitset) po IJgh) eds gwslo IP
10.1.1.1.



s ol IJIglz Idelds: suwlby R2 18,1 20 IJozsse |.Ji_9.J.5 (initbitset) po IJglh) eds gwslo IP

10.1.1.1.

N oJlrbs: soJi 1z 1UIGuos Jeie RTO 5000 pdes olowss: 505 ol suivs, 10 vo Jl e
IUlge,ld wzip EIGRP 1Je9:9.86 21 1Jg pum &olo.

<#root>
R2#

show i p eigrp neighbors detai

IP-EIGRP neighbors for process 1

H Address Interface
3 10.1.1.1 Et0/0
5000
1

0

Version 12.4/1.2,

Retrans: 16

, Retries: 16,

Waiting for Init, Waiting for Init Ack

UPDATE seq 349

ser 0-0 Sent 77844 Init Sequenced
2 10.1.1.3 Et0/0

Hold Uptime  SRTT
(sec) (ms)
11 00:01:17 1

12 02:47:42 22

Version 12.4/1.2, Retrans: 11, Retries: 0, Prefixes: 10

1 10.2.1.4 Et1l/0

10 02:47:42 24

Version 12.4/1.2, Retrans: 10, Retries: 0, Prefixes: 8

0 10.2.1.3 Et1l/0

11 02:47:42 20

Version 12.4/1.2, Retrans: 11, Retries: 0, Prefixes: 2

RTO Q Seq
Cnt Num

200 0 339
200 0 318

200 0 338

§_j>|) £ E.PJ&S'O !Ebé |J|Juu|pr|QQJb|ro._9)|{5roT .o| od9y |.Ja)'|o6 Qgéuuo| |.J|o_9a9)6 \.95 .‘§|{5p6
IJluo bl (ouwduvd 349). w8 lu sHuwd R2 030 Uz 06 QLéu.UOl 16 o6 sweld lJgol; 1Jpzloy:

R2#

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.1 (Ethernet0/0) 1is down:

retry limit exceeded

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.1 (Ethernet0/0) 1is up:

new adjacency



Sl lJgpJs6 06 ié)&
<#root>

R2#

show i p eigrp neighbors detai

IP-EIGRP neighbors for process 1

H Address Interface Hold Uptime SRTT RTO Q Seq
(sec) (ms) Cnt Num
3 10.1.1.1 Et0/0 11 00:00:08 1 4500 1 O

Version 12.4/1.2, Retrans: 2, Retries: 2, Waiting for Init, Waiting for Init Ack
UPDATE seq 350 ser 0-0 Sent 8040 Init Sequenced

2 10.1.1.3 Et0/0 11 02:47:56 22 200 0 339
Version 12.4/1.2, Retrans: 11, Retries: 0, Prefixes: 10

1 10.2.1.4 Et1/0 10 02:47:56 24 200 O 318
Version 12.4/1.2, Retrans: 10, Retries: 0, Prefixes: 8

0 10.2.1.3 Et1/0 11 02:47:56 20 200 O 338

Version 12.4/1.2, Retrans: 11, Retries: 0, Prefixes: 2

s9uoe le)lz 11, debug eigrp packets terse Iy R2 s, wd 12506 wduwol poll 9oLl

~ pdlebbs: ol 9sp6 lelbs |Upelads: 99506 IUedlple 05 0X1 ¢  9swpe weESSY 9226 ww Init.

<tfroot>
R2#

debug ei grp packets terse

EIGRP Packets debugging is on
(UPDATE, REQUEST, QUERY, REPLY, IPXSAP, PROBE, ACK, STUB, SIAQUERY, SIAREPLY)

R2#
EIGRP: Sending UPDATE on Ethernet0/0 nbr 10.1.1.1,

retry 14

RTO 5000

AS 1,
Fl ags Ox1

, Seq 350/0 idbQ 0/0 iidbQ un/rely 0/0 peerQ un/rely 0/1
EIGRP: Sending UPDATE on Ethernet0/0 nbr 10.1.1.1,

retry 15



RTO 5000

AS 1,

Fl ags Ox1

, Seq 350/0 idbQ 0/0 1iidbQ un/rely 0/0 peerQ un/rely 0/1

Jl cuwos wadless jew IJogbd Jiu 2p Hello sope Luwldol sluveduldel wuvdd Lozse:

<tfroot>
R2#

debug ei grp packets hello

EIGRP Packets debugging is on
(HELLO)

EIGRP: Received HELLO on Ethernet0/0 nbr 10.1.1.1
AS 1, Flags 0x0, Seq 0/0 idbQ 0/0

wpw lgbsé oubgsd IJubs,

Bl Jizbow lue wpe lgls wuvgsd v, wuvdd pod, eds e9zo Sles: suins, 3J9 Ids Tu [Jpseo
suvoded gie Update 1lsdss pu 1Jzols Idezley Jo. Ju gds 2lsé w-1luulé 1 36 2ip
IJozsse [Jpuwadps.

<#root>
R2#

debug ei grp packets terse

EIGRP Packets debugging is on
(UPDATE, REQUEST, QUERY, REPLY, IPXSAP, PROBE, ACK, STUB, SIAQUERY, SIAREPLY)

R2#
EIGRP: Received Sequence TLV from 10.1.1.1
10.1.1.2
address matched
clearing CR-mode
EIGRP: Received CR sequence TLV from 10.1.1.1, sequence 479
EIGRP: Received UPDATE on Ethernet0/0 nbr 10.1.1.1
AS 1, Flags OxA, Seq 479/0 idbQ 0/0 iidbQ un/rely 0/0 peerQ un/rely 0/0,
not in CR-mode, packet discarded
EIGRP: Received UPDATE on Ethernet0/0 nbr 10.1.1.1
AS 1,

Fl ags Ox1



, Seq 478/0 idbQ 0/0 iidbQ un/rely 0/0 peerQ un/rely 0/0

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.1 (Ethernet0/0) 1is down:

peer restarted

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.1 (Ethernet0/0) 1is up:
new adjacency

EIGRP: Enqueueing UPDATE on Ethernet0/0 nbr 10.1.1.1 iidbQ un/rely 0/1
peerQ un/rely 0/0

IJozsse IUlsds @wd Hello

Bspl sds pold s luvedold 25e6 Update 1JlsJsé §od 256 Hello:

EIGRP: Received UPDATE on Ethernet0/0 nbr 10.1.1.2
AS 1, Flags 0x1l, Seq 3/0 idbQ 0/0
EIGRP: Neighbor(10.1.1.2) not yet found

I3 25 03l 00 9l2d6 wed lublyo zol peley WUl Sped 031 1Jes 88 puvdJs. 9pg 3JI: Bl Juo
oogu Jo B IJEldu: suvs) 3JY 1Js 1o Idoo Iizhbs gds IUboolb B Idogvgsd sJIJo
lJow ldpwes eds IULoulb pebd. 90 ps0us Té)‘ Suwwodwd |.Jro_9€:) 2iped Update Jdo o Uial)@
9dJuol Jsuww gjpe Hello.

Solsl luolso
Souoeu weue IJivsle 1Jigs pu Idpuuddle:
c cessule Idoedyso
o puvddle IJpuol> $6 g
s eldlo g3 wblog gulosy IP Ul gusé gldelygss
.« puvddle Guods DMVPN

382 Uiz 030 Idpuwlisd weiss pu IJodLosd B 030 IIuwle IJolJss.

oEsslo Idodssy

A edlebs: wolisg 1Jisle, Uﬁo@ Swp lgwogsleol guy 03l IUGuwpe 0s udwol I3l §po wodysy
)0 wadl po 3JY (IJle) no).

98wl v §9p vodssu wslu Idedeue (19 IUpdeus IJodyliss) eds 1slzos: wdlzlb 030
lLhuwlds eds 1deseo:



%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.3 (Ethernet0/0) 1is resync:
summary configured

99spl sds pold s9uoe wdssu Slises wyise eles Jgpdss EIGRP:

<#root>
R1(config-router)#

distribute-list 1 out

R1(config-router)#

opo pdlebs odo Iyuwlds eds 1Je9z0:

% pdlebbs: seow |Ji|o_) OO o £Ud wd9sy Ylispd w9jsE <> WS L_su'ol.

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.3 (Ethernet0/0) 1is resync:
route configuration changed

98Spl e LuEBUL 2psE 12036 EIGRP IJpzlsys g0 odssy Blsps w9ise 9lzos gpdss
EIGRP:

R1(config-router)#distribute-Tist 1 out ethernet 0/0

98 030 1JzlJs: wop lgld wessy lzos EIGRP 1Jezle)s gds 030 1Uslzos B @b,

~ odlzbé: Les peyd wuopse IJigble oo Cisco CSCAy20284. Jl swp lehé wesso Ilzsle
Jdogssilo 1Js986 pod ldodésue 989led IJouodss.

lJpeuol> 96

> wdou 1puol 98 pdows wuudd gl 19 0088958, Spdy U Souwyw 03l B welbd 29l
EIGRP v wowu o lghhé 1dpzlads 1Uds wpe welyjo. 9p vopdsy Idle, debug eigrp packet Joldss
o puol> 96 pdéue lyuwlds 5 (MD5) os ldos cogvew YOS IdpuvdJs:

<ffroot>

R1#


https://tools.cisco.com/bugsearch/bug/CSCdy20284

debug ei grp packets

EIGRP Packets debugging is on
(UPDATE, REQUEST, QUERY, REPLY, HELLO, IPXSAP, PROBE, ACK, STUB, SIAQUERY,
SIAREPLY)

EIGRP: Ethernet0/0: ignored packet from 10.1.1.3, opcode = 1 (missing
authentication or key-chain missing)

e300 wblud golasy IP 1Jlwlwss 9ldelusss

89 EIGRP Llyuwld Hello 9zese 1d25e IJIgs pu guslo IP 1ipwluvs. sop wsd 1dzie po
IJeszo 1T, I3l Jlue golsse IP Jdpeuos, ouudl Ws ubld gusly IP 1wl s Io T2 obléle
golosy IP 1Jelyess gds 1Uslzos. 31 Jo sIo 1dle, J3Je Buwadlelb Huwlds 1Jgbl 030 (s0s
wedsy eigrp log-neighbor-warnings):

IP-EIGRP(Default-IP-Routing-Table:1): Neighbor 10.1.1.2 not on common subnet
for Ethernet0/0

DMVPN

o2l pu puvddle IPSec B Lvwdle DMVPN. spdy i Sowww IPSec W wiusw EIGRP
I3l Jp sIJu IJovds,) wbsual:

<ttroot>

show crypto ipsec sa

protected vrf:
local ident (addr/mask/prot/port): (10.10.110.1/255.255.255.255/47/0)
remote ident (addr/mask/prot/port): (10.10.101.1/255.255.255.255/47/0)
current_peer: 144.23.252.1:500

PERMIT, flags={origin_is_acl,}
#pkts encaps: 190840467, #pkts encrypt: 190840467, #pkts digest 190840467
#pkts decaps: 158102457, #pkts decrypt: 158102457, #pkts verify 158102457
#pkts compressed: 0, #pkts decompressed: 0
#pkts not compressed: 0, #pkts compr. failed: 0
#pkts not decompressed: 0, #pkts decompress failed: 0

#send errors 5523, #recv errors 42

o ving Mlusble



s92> 29 Mlusble 32 v B Lluw 2508 EIGRP: 95390 pu IJpdss Bop pduinle Ssp
IJedlple 1Jpgoduwss.

o 1Jluslye 0x1 Lo Init

Op GESSU 030 IJluulyé b z506 Update I JioJss.

<tfroot>

EIGRP: Received UPDATE on Ethernet0/0 nbr 10.1.1.1
AS 1,

Fl ags Ox1

, Seq 478/0 idbQ 0/0 iidbQ un/rely 0/0 peerQ un/rely 0/0

- 1JgJlps Ox2

cuinsy 050 IJluvhys [Js 9uoe [luvedle 1ol (90og CR). 9303 2ie oo & pdsé EIGRP
1Je92988 JJoe Ipces sswp luveeslee Jdumele Jdlzoss IUpelssé IJos Jep o e
Cdledle 80 2506 98996 wlw s Jesldos hoolb puve,d. 1deulasy 1Je9z9r6 S
BSpé bad woe IJouuduwd (TLY) os IJgulyso IIG)1o IUsso sew o sozledsl 25 Idwe
IJpwess 1Js o s@9psl Lldeld ewn e IJuw IUlzhs.

<tfroot>

EIGRP: Received UPDATE on Ethernet0/0 nbr 10.1.1.2
AS 1,

Fl ags 0x2

, Seq 21/0 idbQ 1/0 iidbQ un/rely 0/0 peerQ un/rely 0/1,
not in CR-mode, packet discarded

o 1Jlusl,6 0x4

030 IJlul)s 0s 9226 wo lgbo IJoubgsd (v RS). 9swp wessuo WS zjpe Hello 9z,
Update g IUlushs [Js NSF. g0 1 pszo [essd J- NSF 9236 [Joe 030 JIde sl el I3l
opo lehs cubgsd 1Jesze 1ezls,: Se e IJzels Ideels) 103s sdoyivd lue s9ldy
wely) EIGRP. sg,00 Upgaz lJ3s sess IJougsd odo IUlubl e Jogass el Bl iy IJubs,)
suvles B lebs lJogugsd le JI.

<tfroot>

EIGRP: Received HELLO on Ethernet0/0 nbr 10.1.1.2
AS 1,

Fl ags Ox4



, Seq 0/0 idbQ 0/0 iidbQ un/rely 0/0 peerQ un/rely 0/0

. IJlil,6 0x8

030 05 9236 wu Juolss IJgaed (EOT). wuus) 9226 Idow 030 |Js Ivo e huwld go9d
IJoszse Iddled 1Js 1Jzols 1Jezls,. seu poze IJpedo J- NSF 9236 IJww 030 Jozass el
131 Il 1Jpszo 1dezls) &3 1dpd lels wuvgsdo le JI. suwlb, 1pszo IUppdo J- NSF 9236
oo 030 God T sisd IJpumble IUdsses po ldeszo 1Uss sels wubgsdo.

<#froot>

EIGRP: Received UPDATE on Ethernet0/0 nbr 10.1.1.2
AS 1,

Fl ags 0x8

, Seq 4/33 idbQ 0/0 iidbQ un/rely 0/0 peerQ un/rely 0/1
EIGRP: NSF: AS1. Receive EOT from 10.1.1.2

owpe bolgs IUlguble W 80 HEX_=9I3_>._9VIJQIJL§‘ Blo IJedles 0x5 weos o IJedloosy 4=_9 1
e wessuopl9ldedles 0x9 weus lu ldedlposy 89 1 wp wessuopl 9ldedles OXA ceus o
lJedlposu 892 wp wgssuopl.

Spdud luwogsle 030 1Ulslo, Jluwod il gble wiui IJizos6 1Jpzless sluadlzol:

» show eigrp interface detail

» show ip eigrp neighbor detail

. ir°.) ping JJoo Uiab@

« 1o, ping weze MTU JleoJ

c ool dlouald wlgwedsle wslole 1) Jdeedd pu lduozs
* 1o, ping JJoo IJpogss

* 2jpo debug eigrp (hello)

» show ip eigrp traffic

» show ip traffic | u>e EIGRP

SIA

s G20 031 1JSwe wlb)s gles edis 2lds SIA e o IIe)lus sldlvoly 1ezcpds: 95 b6
luwed sl IJigble gluodlzol.

oS SIA
ogus 2lJs SIA TG e9zo EIGRP Jp sodd ol eds luvoedle pu zols eelo, sles s 19¢, g1

Isde Idpeuoue (R9lds edle s8lis8). 980> 229¢ 3JJe spume ElGRPJJiawé lJezloss ldes JI
ouwd ol 9euwed suwlds glol DUAL-3-SIA JJeuwl, 1Uss Iuowe wuulbl.



IJig )l o

sedo 1988 030 Ihuwlisd eds p9zo 9le> 19 €36 pozole:

%DUAL-3-SIA: Route 10.100.1.1/32 stuck-in-active state in IP-EIGRP(0) 1. Cleaning up

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 192.168.1.6 (Serial3/0) is down:
stuck in active

I3l 2>e 3JdY wuvdd pogbs VWb spJdy welodo. 931 vy, 29e 3JY sUbS) 3JY IUs 929>
pubIdJo slispo Vs IUyuwds.

Uiu”v'v IJezopedo

Bspl sds wewe vl Ipeepds Jesse glds SIA:

s WiV IJhoulble

s hoolble olJwé

¢ W3UIw IJpuble

s houlble pjogped

* 8, Jiods Jos) (Ubly Iuvoedle Jos))

* e IU3ld,6

* 9236 IJpgldeo IJpeydss6 (CPU) I yodgo

* 1Jodosu [Jglbis (Bspd gru0 ubl® w)sss Elbisé)

odesele luved vl 1JeuudJle sluadizol

E0S 229 989 SIA: w9z pUdJs B eIl ol S Iduveds. 9530 o sdu [Joold
lJuoveow U388 wogul. ould woglu:

c lgyuo Idobsle Idos sope lJlodlg guol wlugwe sl eds il SIA 9235 IJ 99w e
lJpueyJé.
* 2 P.9L98 I.Jro_930 lJ3s sOuvd wlugwe el Vs 1) eds Idlgwogdlelo 1UElLoo wodo

2 pl BlIluw gpse ldobsle [Jos sop lodlgol g0 SIA Slo 99l we puve,ds. gds pwosd
IJeeld: spdu 1o odyy gpseol 132 pozol pu 2lds IJgveJo (pod Uvedle Idbde IJolows). 3
Iy IJley I3dYe Bspdy o ouvs) IJs p9de IJpuvddo Bs Iduveds (wpassl zese wpe lugile
odo IJubsle).

93 lJuolss: sgw IU uduuud lJesde 1J>s syuwd Bso r°33_° slg> |3 |\Ju_) luwoedlele 9!
Sodds 19l Bs oo lu psao udd Iduslule po 1Jebe Jsuvw B odo IUzlJs. eds uvosd
IJecld: spdo 1o @rumd IJpsze luweedlple sswe Iledle gool sJJo JI sep luwedle 1) po
09z0 luodld IJoslole po 1Jgbe.

Spdud luwogsle 1, show ip eigrp topology active JJpuwless B luwodild oL Js SIA



sluadlzol. luze o rldusés) B le)lz Iles. sseus 3J9 1o 1dpsze sueb, 1) eds luvegdle
Jodd IJobss pu o3l 1dzolj 1deezly).

Bspl sds pold. le,uo IJosdd. sop lsdld ouvgsd ILboulble R1-R6 9R1-R5. g0spl sep
Il ouugsd slzos IUlguazle JJeszo R1: syuwd R1 Iguwegdlel JJolbiss 10.100.1.1/32 |Us
R2 9 R3. IJeozo R1 wuil 1J1o Joso IJulsiss. wgpd Idpszole R2 9 R3 Luudd wuivb: 9swp
IJluweogedle w950l g0 ldesze R4 9lUss sop bhuwlde wuvbl 9s)uwd Iuveedlel IJs RS. suoce
lUpszo R5 w bl Izl 9syuwd luweedlpl 1Js R6. szw 1o $oze 1dpozo R6 1ol |Js R5. suowz
IJegzo RS uwldol 95990 w1y eds R4 9ldss suove w90 uwdos!l ssouwd 5ol eds R2 9 R3.
sizsle sg3 R29 R3 puwbl yudus! ssyuwdlu ol eds R1:slss sogs pusbl psdos! 28 i8)s.

B zlJ p9lzod puvdJé. spdu lu sbd 1Jpsze wuill Jbe,)6 JPUSE pPLIG: ZSL ST o
Sucb) 1. Jeug Ipsze pu lowbly 1dys 1Uss Jl spdu lgwedlpo losl spdo Jdeszo ledly
SIA 950 1Uz9b, 103 sowb, 1 eo slde. Jluwed sl e s dJs sluadlzol le,uo )l
IJio, show ip eigrp topology active slowg 1JJIzd T

Bspl sdis [olz 1deseo R1:

<#root>
R1#

show i p eigrp topol ogy active

IP-EIGRP Topology Table for AS 1)/ID(10.100.1.1)

Codes: P - Passive, A - Active, U - Update, Q - Query, R - Reply,
r - reply Status, s - sia Status

A 10.100.1.1/32, 1 successors, FD 1is Inaccessible
1 replies, active 00:01:11, query-origin: Local origin
via Connected (Infinity/Infinity), Loopback0
Remaining replies:
via 10.1.1.2,

r

, Ethernet0/0

lJpesgo R1 uuvlb ssuwb, jol pu R2. ool IJlowlz Jdpgge R2:

<tfroot>
R2#

show i p eigrp topol ogy active

IP-EIGRP Topology Table for AS(1)/ID(10.100.1.2)

Codes: P - Passive, A - Active, U - Update, Q - Query, R - Reply,
r - reply Status, s - sia Status



A 10.100.1.1/32, 1 successors, FD is Inaccessible
1 replies, active 00:01:01, query-origin: Successor Origin
via 10.1.1.1 (Infinity/Infinity), Ethernet0/0
via 10.2.1.4 (Infinity/Infinity),

r

, Ethernetl/0, serno 524
via 10.2.1.3 (Infinity/Infinity), Ethernetl/0, serno 523

lJe9zo R2 uuivbb 9suwlb) ol po R4. ool IJluclz JJe9ze R4:

<{froot>
R4#

show i p eigrp topol ogy active

IP-EIGRP Topology Table for AS(1)/ID(10.100.1.4)

Codes: P - Passive, A - Active, U - Update, Q - Query, R - Reply,
r - reply Status, s - sia Status

A 10.100.1.1/32, 1 successors, FD is Inaccessible
1 replies, active 00:00:56, query-origin: Successor Origin
via 10.2.1.2 (Infinity/Infinity), Ethernetl/0
via 172.16.1.5 (Infinity/Infinity),

r

, Serial2/0, serno 562
via 10.2.1.3 (Infinity/Infinity), Ethernetl/0, serno 560

lJegzo R4 uuvb 9suwb, 5ol po RS ool IUluwlz JJesze R5:

<ttroot>
R5#

show i p eigrp topol ogy active

IP-EIGRP Topology Table for AS(1)/ID(172.16.1.5)

Codes: P - Passive, A - Active, U - Update, Q - Query, R - Reply,

r - reply Status

, S - sia Status

A 10.100.1.1/32, 1 successors, FD is Inaccessible, Q
1 replies, active 00:00:53, query-origin: Successor Origin
via 172.16.1.4 (Infinity/Infinity), Serial2/0
Remaining replies:
via 192.168.1.6,



r

, Serial3/0

lJesgo RS uwuvlb ssuwb, jol pu R6. ool IJluwlz JJp9zoe RG:

<tfroot>
R6#

show i p eigrp topol ogy active

IP-EIGRP Topology Table for AS(1)/ID(192.168.1.6)
R6#

Jel 09 9,02: IJpoze RE ¢.5) wuivk Jdobiss: J3d sze 1o odou Ideuvdds wso IJpszosy
R59 R6. wg> W 6 w9yl lu ) 5 s¥ed Idzob ) 6 9sedu elds uwsl:

R5#

%DUAL-3-SIA: Route 10.100.1.1/32 stuck-in-active state in IP-EIGRP(0) 1.
Cleaning up

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 192.168.1.6 (Serial3/0) is down:
stuck in active

g £u2 ez 1dpszo R5: spdud pdlebs 9295 puvIddle eds IULoulb Lleglo R6.

03l ypj SIA 238> 98Js 03l IJuey: eoow SIA gds pga:) Jlo ool Idpuvdds. WOs o3l Idpeld: 03l
09 IUhoolb wsu ldpszele R5 9 R6. s luoshle 1U)e95 JB8>806 Spdu ledlo SIA eds Ls 0920
gJs Ieuwb (ped Js R2): 9lUss spdo 1o sdou wessl go IdpundJs. JIoe p36 pdde SIA
oJle 38lsd. spdu 1o s ls pozo gds bed 1dpuwly I9d eozo Suodd IJs SIA 95999 1Jzol;
IJeels, (IU1z036 1Jeel9,8). vluwegsle 1dses IJizae. suwl, Idpsze sl ssiuwd luwegdle SIA
eds 1Jg, 1ds IJzols 1dpelay Joc sszse IJzols Ideelay eds 1J99) v SIA. gds pvosd
IJpcld: loule 92930 B 1UplJs IJouilé. s uwd Idpszo R4 luwogdle SIA |Js R5. 95,5 R5 oo
SIA.

R5#
EIGRP: Received SIAQUERY on Serial2/0 nbr 172.16.1.4
AS 1, Flags 0x0, Seq 456/447 idbQ 0/0 iidbQ un/rely 0/0 peerQ un/rely 0/0
EIGRP: Enqueueing SIAREPLY on Serial2/0 nbr 172.16.1.4 iidbQ un/rely 0/1
peerQ un/rely 0/0 serno 374-374
EIGRP: Sending SIAREPLY on Serial2/0 nbr 172.16.1.4
AS 1, Flags 0x0, Seq 448/456 idbQ 0/0 iidbQ un/rely 0/0 peerQ un/rely 0/1
serno 374-374



Jol sHuwd I.J,o_93:> R5 luwogdlple SIA |Js R6: 9JJuo Jl sedds s SIA oo R6.

R5#
EIGRP: Enqueueing SIAQUERY on Serial3/0 nbr 192.168.1.6 iidbQ un/rely 0/2
peerQ un/rely 5/0 serno 60-60

ween 1o Syuwd 1Jpozo luweedle SIA sJdue Jl sgwedwd o SIA elbo, s Josl IJzols 1dpzley:

<#root>
R5#

show i p eigrp topol ogy active

IP-EIGRP Topology Table for AS(1)/ID(172.16.1.5)

Codes: P - Passive, A - Active, U - Update, Q - Query, R - Reply,
r - reply Status,

s - sia Status

A 10.100.1.1/32, 1 successors, FD is Inaccessible, Qqr
1 replies, active 00:02:36, query-origin: Successor Origin, retries(l)
via 1172.16.1.4 (Infinity/Infinity), Serial2/0, serno 61
via 192.168.1.6 (Infinity/Infinity), r

, 0, Serial3/0, serno 60, anchored

o€ yp) SIA 1Jgsss. Sew lJleJIo g0 SIA gds 1Jpggo RS gudpl Jl sedds ool SIA. sgo e 3JY
wpdsu wuoese lJigble Jgje EIGRP SIA IJolJsé:

<tfroot>
R2#

debug ei grp packets Sl Aquery Sl Areply

EIGRP Packets debugging 1is on
(SIAQUERY, SIAREPLY)

R2#

show debug

EIGRP:
EIGRP Packets debugging 1is on



(SIAQUERY, SIAREPLY)

ool spdod luuegsle 030 1Jile, Jlguedilsd euidJs SIA sl odlzol:

« show ip eigrp topology active

« show ip eigrp event (o pel Sjs> 2ze uved [Je>e)

* show ip eigrp traffic (IJoze gu lJgsss pu luwogdlple SIA 95595 SIA)
» show proc mem

* show mem Sum

Sspl sds veue 1dedsd Idppdus Jeuvdds SIA:

* luodle puvdds IUoulb.

* Vp vobosy lJodisue (IJs>9s 9 lJoddliss) Ws lduvedle sl Idobsle [deogsss 9
ool g Wlgwegdlp 1Ugps .

© luwogse Bolise IJesise Joddsd vbld Idlgvegdle.

e e ldpozole IJugsss gds ol uudle z3).s6.

IJobisle 1 e §956

ould uetly pu Idubssle 1Jewd 8956 oJI 1Uped 8936 B 239J IJwszso (19 Gless pedople
lJoszso (RIB)) soddd 1Je8 8956 Vs z29d IJpgblb.

IJobisle 1Jew8 8956 Vs Bless pedyple IJegzso (RIB)
Spdu o oy ould £38 Iuwoule Jgsp wuopsy wixsé Wb RIB:

* SOp Cuse IJobiss B za9d Iduszso 9 woluubos wy9eeded IJoszse IUIE) weuulds
bblso 19J.

s web) Blises Jugjse lJulbiss.

* St ldoduvse Ui-.é&@ lJolseso.

Sop Suse Idubiss usluubs o9l IJeszse weuwl s Ihss 1 §J

Os o3l ldpeldr swp ST IJobiss Bes 229d 1Jwozso 19 wluwbs puwl, wlow 19 w9099
lJogzso weuwlds blso 1 9.

_9E_|.>o g 29 3JJc gy IJulsiss O z29d lJosdd 9JIJu Jsuw Jol puwly JIC@ SpJdud &0
zpse odo Idbglle wluuegsle 1Jie, show ip eigrp topology zero-successors. szw o sJ90
JJpwl96 lJppdus §spes Jl wolisss.

I>¢J IJio, show ip route <prefix> 90288 po wygwsdsdle IJogzse IJos wpdd IJpusl, B RIB:

<ttroot>

R1#



show i p eigrp topology 192.168. 100. 6 255. 255. 255. 255

IP-EIGRP (AS 1): Topology entry for 192.168.100.6/32
State is Passive, Query origin flag 1is 1,

0 Successor(s), FD is 4294967295

Routing Descriptor Blocks:
10.3.1.6 (Serial2/0), from 10.3.1.6, Send flag is 0x0
Composite metric is (2297856/128256), Route is Internal
Vector metric:
Minimum bandwidth is 1544 Kbit
Total delay is 25000 microseconds
ReTiability is 255/255
Load 1is 1/255
Minimum MTU is 1500
Hop count 1is 1

<tfroot>
R1#

show i p eigrp topol ogy zero-successors

IP-EIGRP Topology Table for AS(1)/ID(10.100.1.1)

Codes: P - Passive, A - Active, U - Update, Q - Query, R - Reply,
r - reply Status, s - sia Status

P 192.168.1.0/24, 0 successors, FD is Inaccessible
via 10.3.1.6 (2681856/2169856), Serial2/0

P 192.168.100.6/32, 0 successors, FD is Inaccessible
via 10.3.1.6 (2297856/128256), Serial2/0

web) $lispd IJogjse 1dolisé

lu BGP gubé g0 wu9e9dsd wozso pozo IJpuwlBle. spdud lpwosle Slises IJessse eds ls
,oga:) Jeb) Idobsle. spdoud |uwegslee gds 9lzos Jls@led huwld Idulssle i_9 luvodoldol: ig
SpeJdud wdysy distribute-list L v gl Jopu gpdso EIGRP JJpegzo Jobosy pouive
lJogzso eds gese lUsleole lJos wp wpdsy EIGRP.

Isel sds pold:
<#root>

R1#

show runni ng-config | begin router eigrp

router eigrp 1



network 10.0.0.0
distribute-list 1 in

no auto-summary
|

access-1list 1 deny 192.168.100.6
access-1list 1 permit any

bl 1Jp8956 Bes 239 IJosdJ
5uod o3l |.JL9u.uro &2 |JiuJJg_J|y |.JC;;§ 9> ua&,J W PRY p| rogéhéj)f) V-1V) a)_9J |.JroaJDJD
psluodle IJdule JIglz 1Jiey 1deoluve

Jlesedo IJebl 1dopsses: euspl w@9p wlJozdd pu wlbisé B 29J IJpgblo. §p slisel
votssu ld@ule. sgaw 03l Bl Jp ouwegsp IJBulE:

<#froot>
R1#

show i p eigrp topol ogy 192.168. 100. 6

% IP-EIGRP (AS 1): Route not in topology table

ol 09 I,z 1Jie, show ip eigrp topology gus weass IJBule:

<ttroot>
R1#

show i p eigrp topol ogy 192.168.100. 6 255. 255. 255. 255

IP-EIGRP (AS 1): Topology entry for 192.168.100.6/32
State is Passive, Query origin flag is 1, 1 Successor(s), FD is 2297856
Routing Descriptor Blocks:
10.3.1.6 (Serial2/0), from 10.3.1.6, Send flag is 0x0
Composite metric is (2297856/128256), Route is Internal
Vector metric:
Minimum bandwidth is 1544 Kbit
Total delay 1is 25000 microseconds
Reliability is 255/255
Load is 1/255
Minimum MTU is 1500
Hop count is 1
10.4.1.5 (Ethernetl/0), from 10.4.1.5, Send flag is 0x
Composite metric is (2323456/2297856), Route is Internal
Vector metric:
Minimum bandwidth is 1544 Kbit



Total delay is 26000 microseconds
Reliability is 255/255

Load is 1/255

Minimum MTU is 1500

Hop count is 2

9Jpl 09 p9 oz [Jwl>iss 92956 WO 229 [JosIJ.
Seb) ldoduwse Ui;éé@ lJol>eso

SueD 03l IJGwp elol Uulisel Tg). 1o EIGRP Jsuw w)9w9dsd wozso 2lds houlb. 9Jdue
w299999J wozso pogo ldpuwlBle. szo luweésle 239J IUpglbbl JJgpdss IUuozses Jgsliess
o8 IJoui (DUAL). Jsuw Jiu EIGRP o9 w9099 wezsoe zlJs 1o ulb: suldelds: Bluo
sobdo Bles wslolo. sdip 929 229J Idesdd Jive sop wowse I8l IJeusble Bk B
z29d ldugeso wsupl wobde 2915056 DUAL o)l 906 IJpwble 1Jpdlised |5uoi ISP
ogisuol B z29d IJosdJ.

STw i SY9u s slispl IJpuwl,y Ua.Jd _9|JJon lJppduo Vs z29d IUbywgdozsl. I3l Je ody
Jrsd Would abl 9p& 3JIJc 9> wop> Lsuol eunble gs) pdlisps Vs 229d lJosIJ: bldpl o0
e luvoduldel. I3l Je sep luvedoldol oo 2ol pely W¥@s sUsu ould @ wse IVES Spue
lJolsisé.

SEHLP Ui,oJ show ip eigrp topology I)'CUIU IJUI>56 IJ._AS udb_g, U@ Upuul_,lu lJJlg 96
(Isual lJeuwble &s) |JpJ|..5po) dl)tJ UIPJ show ip elgrp topology aII links U>JI pU 3.J.J

Ssel sds pold:

<tfroot>
R1#

show i p eigrp topol ogy

IP-EIGRP Topology Table for AS(1)/ID(10.100.1.1)

Codes: P - Passive, A - Active, U - Update, Q - Query, R - Reply,
r - reply Status, s - sia Status

P 10.3.1.0/24, 1 successors, FD is 2169856
via Connected, Serial2/0
P 10.2.1.0/24, 2 successors, FD is 307200
via 10.1.1.2 (307200/281600), Ethernet0/0
via 10.1.1.3 (307200/281600), Ethernet0/0
P 10.1.1.0/24, 1 successors, FD 1is 281600
via Connected, Ethernet0/0
P 172.16.1.0/24, 1 successors, FD is 2195456
via 10.4.1.5 (2195456/2169856), Ethernetl/0
P 192.168.1.0/24, 1 successors, FD is 2195456
via 10.4.1.5 (2195456/2169856), Ethernetl/0
via 10.3.1.6 (2681856/2169856), Serial2/0
P 10.4.1.0/24, 1 successors, FD 1is 281600



via Connected, Ethernetl/0
P 172.16.100.5/32, 1 successors, FD is 409600

via 10.4.1.5 (409600/128256), Ethernetl/0
P 10.100.1.4/32, 2 successors, FD is 435200

via 10.1.1.2 (435200/409600), Ethernet0/0

via 10.1.1.3 (435200/409600), Ethernet0/0
P 10.100.1.3/32, 1 successors, FD is 409600

via 10.1.1.3 (409600/128256), Ethernet0/0
P 10.100.1.2/32, 1 successors, FD is 409600

via 10.1.1.2 (409600/128256), Ethernet0/0
P 10.100.1.1/32, 1 successors, FD is 128256

via Connected, Loopback0
P 192.168.100.6/32, 1 successors, FD is 2297856

via 10.3.1.6 (2297856/128256), Serial2/0

B o3l IJlgle spdod pdlzbs lu gie all-links oo 1Jle) souopu Ipiss po ldpusble:

<{froot>
R1#

show i p eigrp topology all-Iinks

IP-EIGRP Topology Table for AS(1)/ID(10.100.1.1)

Codes: P - Passive, A - Active, U - Update, Q - Query, R - Reply,
r - reply Status, s - sia Status

P 10.3.1.0/24, 1 successors, FD is 2169856, serno 43
via Connected, Serial2/0

P 10.2.1.0/24, 2 successors, FD is 307200, serno 127
via 10.1.1.2 (307200/281600), Ethernet0/0
via 10.1.1.3 (307200/281600), Ethernet0/0

P 10.1.1.0/24, 1 successors, FD is 281600, serno 80
via Connected, Ethernet0/0

P 172.16.1.0/24, 1 successors, FD is 2195456, serno 116
via 10.4.1.5 (2195456/2169856), Ethernetl/0

via 10.3.1.6 (3193856/2681856), Serial 2/0
via 10.1.1.2 (2221056/2195456), Ethernet0/0

via 10.1.1.3 (2221056/2195456), Ethernet0/0

P 192.168.1.0/24, 1 successors, FD is 2195456, serno 118
via 10.4.1.5 (2195456/2169856), Ethernetl/0
via 10.3.1.6 (2681856/2169856), Serial2/0

P 10.4.1.0/24, 1 successors, FD is 281600, serno 70
via Connected, Ethernetl/O0

P 172.16.100.5/32, 1 successors, FD is 409600, serno 117
via 10.4.1.5 (409600/128256), Ethernetl/0

via 10.3.1.6 (2809856/2297856), Serial2/0



P 10.100.1.4/32, 2 successors, FD 1is 435200, serno 128
via 10.1.1.2 (435200/409600), Ethernet0/0
via 10.1.1.3 (435200/409600), Ethernet0/0

P 10.100.1.3/32, 1 successors, FD is 409600, serno 115
via 10.1.1.3 (409600/128256), Ethernet0/0

P 10.100.1.2/32, 1 successors, FD 1is 409600, serno 109
via 10.1.1.2 (409600/128256), Ethernet0/0

P 10.100.1.1/32, 1 successors, FD is 128256, serno 4
via Connected, Loopback0

P 192.168.100.6/32, 1 successors,

FD is 2297856

, serno 135
via 10.3.1.6 (2297856/128256), Serial2/0

via 10.4.1.5 (2323456/2297856), Ethernetl1/0

oled B Idulxiss IUlesys B 1lz Iduwlo e wsupl szoss Ipuwl e 10415 eds
(2323456/2297856). I pwl 86 1Jpodg guol (IJSsluw IJpeJu gwo) o5 2297856, 90,5 Jsuww
luog) po FD po 2297856, Jsl 1Jpuwly Jsuw pdlisel.

<tfroot>

P 192.168.100.6/32, 1 successors, FD is 2297856, serno 135
via 10.3.1.6 (2297856/128256), Serial2/0

via 10.4.1.5 (2323456/2297856), Ethernetl1/0

Bl sds el 28 suoe £0 Jodumse IJIB8S luwouel puvly p0 229 1dosId Jeuml
9le>. gwpl wgHuo IJosId: Spdud 5956 1o Idpsze R1 szess eds IJwlise 192.168.100.6/32
o) R6 9R5 Vs 2>9d lJos I 9JIJG Jsuw £wy R2 19 R3:

<{froot>
R1#

show i p eigrp topology 192.168.100. 6 255. 255. 255. 255

IP-EIGRP (AS 1): Topology entry for 192.168.100.6/32
State is Passive, Query origin flag is 1, 1 Successor(s), FD is 2297856
Routing Descriptor Blocks:
10.3.1.6 (Serial2/0), from 10.3.1.6, Send flag is 0x0
Composite metric is (2297856/128256), Route is Internal
Vector metric:
Minimum bandwidth is 1544 Kbit
Total delay 1is 25000 microseconds
ReTiability is 255/255
Load is 1/255
Minimum MTU is 1500
Hop count 1is 1



10.4.1.5 (Ethernetl/0), from 10.4.1.5, Send flag is 0x0

Composite metric is (2323456/2297856), Route is Internal
Vector metric:

Minimum bandwidth is 1544 Kbit
Total delay is 26000 microseconds
Reliability is 255/255

Load is 1/255

Minimum MTU is 1500

Hop count is 2

95J9 Jiu 1Jpozo R1 Jp suwodod IJulisé 192.168.100.6/32 £, R2 I9 R3. s seusslo eds
IJolbisé 192.168.100.6/32 £y, R1 B z39J lJwszso.

<ffroot>
R2#

show i p route 192.168.100. 6 255.255. 255. 255

Routing entry for 192.168.100.6/32
Known via "eigrp 1", distance 90, metric 2323456, type internal
Redistributing via eigrp 1
Last update from 10.1.1.1 on Ethernet0/0, 00:02:07 ago
Routing Descriptor Blocks:
*10.1.1.1, from 10.1.1.1, 00:02:07 ago, via Ethernet0/0
Route metric 1is 2323456, traffic share count is 1
Total delay is 26000 microseconds, minimum bandwidth is 1544 Kbit
Reliability 255/255, minimum MTU 1500 bytes
Loading 1/255, Hops 2

R3#

show i p route 192.168.100. 6 255.255. 255. 255

Routing entry for 192.168.100.6/32
Known via "eigrp 1", distance 90, metric 2323456, type internal
Redistributing via eigrp 1
Last update from 10.1.1.1 on Ethernet0/0, 00:01:58 ago
Routing Descriptor Blocks:
*10.1.1.1, from 10.1.1.1, 00:01:58 ago, via Ethernet0/0
Route metric 1is 2323456, traffic share count is 1
Total delay is 26000 microseconds, minimum bandwidth is 1544 Kbit
Reliability 255/255, minimum MTU 1500 bytes
Loading 1/255, Hops 2

9dJdozdl pu d3JdYi luwegsp IUIJed IJiL}ulwsé all-links gJs R1 guwspl wgyu0 239d IJosIJ.
9s&Hue dJY gese |.Jfo,_}ul_)|u lJEluod wepse Idobsloddos cogopu IJpuwble s, |,J.o.J|§pO

sedod vy pdlebs o 1Julsss 192.168.100.6/32 Je sop IJogd gdsol wsluwbs Ipszo
R1 oo R2 19 R3.

lJedlssuw



S pdiebs: Jl sep wupesy U IJIduos JJodd (MTU) sess IUgbes (hop) B IJzuwle
|J|ou_).,5

030 05 IJuosE Ipumesps Jeuwle dsluw Ideusly IUglue weszse pl:
* Bl Iloe KE §sp6 €50 uo956:
EIGRP Metric = 256*(((K1*Bw) + (K2*Bw)/(256-Load) + (K3*Delay))*(K5/(Reliability + K4)))
o Bl Jloe K5 ouwles Lol
EIGRP Metric = 256*((K1*Bw) + (K2*Bw)/(256-Load) + (K3*Delay))

IJdse K os 95l sop luvagsleol po lzd 950 Idpdsule 1L wes Jedsluw EIGRP: IJulgs).
lJoblg 1oy 1Jp9e9dso: 9ldzed. 030 os Wsp K IJIWe,)losé:

- K1=1
- K2=0
- K3=1
- K4=0
- K5=0

eg IJBsp KIJIBe, )l uoss (BBb e IJublyd 1Jes sldolés)) ououe IJuosés:
EIGRP Metric = 256 * (Bw + Delay)

Bw= (1027/1Je> Ui)g,s o0 BW LlJIdsdsv e Bs Ideluss)

S pdlebé: séluw IJelts) weuinle IUpsds eluss: v lue sdluv eds 1Jslzos
vesdyyoluss.

SpJdu 1Jozdd pu gpse Idpdsole 1Jhues Lluwaesle 11, show interface:

<{froot>
R1#

show interface et 0/0

Ethernet0/0 is up, line protocol is up

Hardware is AmdP2, address is aabb.cc00.0100 (bia aabb.cc00.0100)
Internet address is 10.1.1.1/24

MTU 1500 bytes,

BW 10000 Kbi t



DLY 1000 usec

reliability 255/255

t xl oad 1/ 255

rxl oad 1/ 255

Encapsulation ARPA, Toopback not set Keepalive set (10 sec)
ARP type: ARPA, ARP Timeout 04:00:00 Last input 00:00:02, output 00:00:02,
output hang never
Last clearing of "show interface" counters never
Input queue: 0/75/0/0 (size/max/drops/flushes); Total output drops: O
Queueing strategy: fifo
Output queue: 0/40 (size/max)
5 minute input rate 0 bits/sec, 0 packets/sec
5 minute output rate 0 bits/sec, 0 packets/sec
789 packets input, 76700 bytes, 0 no buffer
Received 707 broadcasts, 0 runts, 0 giants, O throttles
0 input errors, 0 CRC, O frame, O overrun, 0 ignored
0 input packets with dribble condition detected
548 packets output, 49206 bytes, 0 underruns
0 output errors, 0 collisions, 1 interface resets
0 unknown protocol drops
0 babbles, 0 late collision, 0 deferred
0 Tost carrier, 0 no carrier
0 output buffer failures, 0 output buffers swapped out

90 IJelts) woldpsl el seos lue spdud [olds IJolts) JIJ boulb gds byd IJpusl,.
9359y 3 lJoblg lJe)sss ) o_)lenJ,o@ J3l Blo guo Idubl@ Ideys Idpuwedse Os
IJuosgs 09 luog) e wbly woss Jls boolb gds byd Ipuwl.

pErS p9z0 o)

Jeruo e IJpsze I3 suweeapo EIGRP. g IUle, show ip eigrp topology gJs IJegze
slerue Iduwlo, 1Jlsd pu IJIle:

<tfroot>
R1#

show i p eigrp topol ogy

IP-EIGRP Topology Table for AS(1)/

I D(10. 100. 1. 1)



Codes: P - Passive, A - Active, U - Update, Q - Query, R - Reply,
r - reply Status, s - sia Status

P 10.3.1.0/24, 1 successors, FD 1is 2169856
via Connected, Serial2/0

Jl suwodsp perd p9zo EIGRP gJs 1JlbJls JJpuwble 1UslgJss B luoshle Cisco 10S
U830, Szw 1Jl souuww pesd p9z0 roeJ_,:, J EIGRP Vs ls punldd I3l op !uuoﬁ_)lp lJeuwble
I>1gJse Wb, Vs yulez Cisco 10S IJlz>e wgpd puvble EIGRP og,09 p9zo EIGRP.

sedu Brue e IJpszo Jdpuwbile 1gbzss B o3l 1JIgle:

<tfroot>
R1#

show i p eigrp topol ogy 192.168. 1.4 255. 255. 255. 255

IP-EIGRP (AS 1): Topology entry for 192.168.1.4/32
State is Passive, Query origin flag is 1, 2 Successor(s), FD is 435200
Routing Descriptor Blocks:
10.1.1.2 (Ethernet0/0), from 10.1.1.2, Send flag is 0x0
Composite metric is (435200/409600), Route is External
Vector metric:
Minimum bandwidth is 10000 Kbit
Total delay is 7000 microseconds
Reliability is 255/255
Load is 1/255
Minimum MTU is 1500
Hop count is 2
External data&colon;

Oiginating router is 10.100.1.4

AS number of route is 0
External protocol is Connected, external metric is O
Administrator tag is 0 (0x00000000)

Bl op lgwedlp push EIGRP (¢lzis) wperd poze EIGRP ud wo pod Ipsze: BJu s §9e
wlouble bgld uvzd. 98 3JIJc sdob ywed Iole EIGRP o3l g IJwe 9l pu puvl) EIGRP
(1Jgbzs) BOluo Jl sbo)y Vs 229 [JosIJ.

2288 po uwed Teale EIGRP Lol g0 sumlisd pesd 1Jpszo 1dpd )6 Idppeeds:

<{froot>
R1#

show i p eigrp events



Event information for AS 1:

1 08:36:35.303 Ignored route, metric: 10.33.33.33 3347456

2 08:36:35.303 Ignored route, neighbor info: 10.3.1.6 Serial2/1
3 08:36:35.303

Ignored route, dup router: 10.100.1.1

08:36:35.303 Rcv EOT update src/seq: 10.3.1.6 143
08:36:35.227 Change queue emptied, entries: 2
08:36:35.227 Route OBE net/refcount: 10.100.1.4/32 3
08:36:35.227 Route OBE net/refcount: 10.2.1.0/24 3
08:36:35.227 Metric set: 10.100.1.4/32 435200

9 08:36:35.227 Update reason, delay: nexthop changed 179200
10 08:36:35.227 Update sent, RD: 10.100.1.4/32 435200

11 08:36:35.227 Route install: 10.100.1.4/32 10.1.1.3

12 08:36:35.227 Route install: 10.100.1.4/32 10.1.1.2

13  08:36:35.227 RDB delete: 10.100.1.4/32 10.3.1.6

o NOoO UV A

&30 wblod Bsp Klsdlw IJogvgsd duwd v

gpl odoy Bsp K ppoduds eds Idpszole IUpzle,é wop pdlzelbs 030 1U,uulJs:

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.4.1.5 (Ethernetl/0) 1is down:
K-value mismatch

s odasu dse K uluucgsle o3l Ui, (pe Gse Kldezopds wsu 0.9255):

<#root>
netric weights
tos k1 k2 k3 k4 k5

!
router eigrp 1
network 10.0.0.0

metric weights 0 1 2 3 45
!

Sy Wl 1 16 23 EIGRP Jp sp Slumsuns oo £36 Sblud G K. 2w 1o
odou Bsp Kos udywol eds zpse pozole EIGRP B uble puvedd sles Jpug 229e
puvdJlo Vs IJogzso gus luvwgsle pozole pgodds Jeuwlole Bsluv pgoduds.

28 ppl Bl Jlue Ssp Kos o wol eJs IJpozole Ipele)s. I3l Jlue Bse K os wdwol.
Wspdu o sdsu IJuvow 09 6 sl Idoyvesd IJzpsd J EIGRP. O odo IJzlJé: s)uwd
IJegze 2p6 EIGRP Hello pg wessu Ssp K eds 255 vese s g0 wblod e K uuvdd



pogps. o3l JJluvhé 1Js e9zo EIGRP IJezly, 1ss sop cuisde. seds 1Jpsze IUpezles uwens
ouwlde Idgsle 1Jpuwedpsd oo

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.1.1.1 (Ethernet0/0) 1is down:
Interface Goodbye received

9p8 3JI: 5l Jlu 1dpozo Idezle) $@9p wouvésd luosh ses B3sp (Gwd perd Il ey Cisco
CSCdr96531). bJl swog, b gds odo Iyuwlds Jyuwlds |l ouvgsd uvduws: wd Sog s
gdsol eds luol g2 wblog Ssp K:

%DUAL-5-NBRCHANGE: IP-EIGRP(0) 1: Neighbor 10.4.1.5 (Ethernetl/0) 1is down:
K-value mismatch

030 05 | uwlJs o wol Jpl Bs 2lJs £3p0 whblud Bsp K lJedsdss eds IUpszole [pels)s.
9ud9y 030 08 ppdsle lsllw IJoyvgsd Iduvduw:

« op bb¢ld 1Jle, no router eigrp.

« op bb¢ld IJle, no network.

* wpe beld UipJ clear ip eigrp neighbor.
« wpo lehs wepsd IJeszo.

sowode ksl IJoubésd IJowduw Jishs wues Iousls 2lJs welbd 1zels ezl sws9u
!§L§|u? IJoubgsd Idundue: sze 1o socb) IJzels IUpels) eos luwele Lodless jeu IUegbd
Iwd lu sedu lo 1Jzols IUpely, pebod.

p9jué wepsd gs) pouwlyss IJodJws (I 9)

e 1Jppdo lole 91306 2od 3o wdJBds ¢s) pouwlass Bs EIGRP Lluegsle 1Jle, variance.
SJJu sz 1d9sle wuinglo 1JOLS slderss.

Seus Uinb 1JB1LE 1o Gsluw Idpuwly Jsuw 190 po 18od Gsluw puoige B 1JB1GE.

Jlgeol IJpuwh edlsele sze ledlo gu 1dpusly wpuwlds pudé gool 18 pu Ideuwlds
IJpJlis 6 (FD). Besel s polJ:

<tfroot>
|

router eigrp 1

vari ance 2

network 10.0.0.0


https://tools.cisco.com/bugsearch/bug/CSCdr96531

no auto-summary
|

s2e9s psze RT eds 1JBLG 21038 we cdssvo. 903l seos lue I3l Il IJpszo seess eds
purb 16 Jdeuwh pe Ssluw Jsuw 19es po LoD 18 od pdsluw J3JI Idpuwly: Sszw o
SI9u ould pljus sy powwlsss Jeed ldoddws Jsdd 1dpuul,.

<#root>
R1#

show i p eigrp topology 172.16.100.5 255. 255. 255. 255

IP-EIGRP (AS 1): Topology entry for 172.16.100.5/32
State is Passive, Query origin flag is 1, 1 Successor(s),

FD is 409600

Routing Descriptor Blocks:
10.4.1.5 (Ethernetl1/0), from 10.4.1.5, Send flag is 0x0
Composite metric is (

409600

/128256), Route is Internal

Vector metric:
Minimum bandwidth is 10000 Kbit
Total delay is 6000 microseconds
Reliability is 255/255
Load is 1/255
Minimum MTU is 1500
Hop count is 1

10.3.1.6 (Serial2/0), from 10.3.1.6, Send flag is 0x0
Composite metric is (

435200/ 409600

), Route is Internal <<< RD = 409600
Vector metric:

Minimum bandwidth is 10000 Kbit
Total delay is 7000 microseconds
Reliability is 255/255
Load is 1/255
Minimum MTU is 1500
Hop count is 2

I3l we COUSY I>¢lJ IJJo'aJoJo lJelos s 229d IJwszso: Blu Bsluw beld Idegbl IJelus o9
435200. wpl o Jogd 10 od pdsluw 09 2 x 409600 = 819200, 9 435200 < 819200, V|y I>¢lJ
IJpelob IJelos s88 wopw wbld IJovlsu. IJpuwlds IJos wp IUloJIg guel JIbgld Idpg bl
lJelos os 409600 908 Jsve Iuog) o0 OSpo FD =409600. IJi,yb IJelus (1dz9s) Jp swpe
luveslgo: 9lUsgad IJelus Jl spdu wewswo Vs RIB.

<{froot>



R1#

show i p route 172.16.100.5

Routing entry for 172.16.100.5/32
Known via "eigrp 1", distance 90, metric 409600, type internal
Redistributing via eigrp 1
Last update from 10.4.1.5 on Ethernetl/0, 00:00:16 ago
Routing Descriptor Blocks:
* 10.4.1.5, from 10.4.1.5, 00:00:16 ago, via Ethernetl/0
Route metric 1is 409600, traffic share count is 1
Total delay is 6000 microseconds, minimum bandwidth is 10000 Kbit
Reliability 255/255, minimum MTU 1500 bytes
Loading 1/255, Hops 1

51 Jlo RD Jbzld 1Jowsdd IJelos Iuog) oo FD. Jpl B 1Jpeld IJolds: puedss oold p9lios
slo oddus gs) pouwlsss.

<ffroot>
R1#

show i p eigrp topology 172.16.100.5 255. 255. 255. 255

IP-EIGRP (AS 1): Topology entry for 172.16.100.5/32
State is Passive, Query origin flag is 1, 1 Successor(s),

FD is 409600

Routing Descriptor Blocks:
10.4.1.5 (Ethernetl/0), from 10.4.1.5, Send flag is 0x0
Composite metric is (409600/128256), Route is Internal
Vector metric:
Minimum bandwidth is 10000 Kbit
Total delay is 6000 microseconds
ReTiability is 255/255
Load 1is 1/255
Minimum MTU is 1500
Hop count 1is 1
10.3.1.6 (Serial2/0), from 10.3.1.6, Send flag is 0x0
Composite metric is (434944/

409344

), Route is Internal <<< RD = 409344
Vector metric:

Minimum bandwidth is 10000 Kbit
Total delay is 6990 microseconds
ReTiability is 255/255
Load 1is 1/255
Minimum MTU is 1500
Hop count is 2

S92 beldlo JJosdd IUly B z39d IJwszso:



<ffroot>
R1#

show i p route 172.16.100.5

Routing entry for 172.16.100.5/32
Known via "eigrp 1", distance 90, metric 409600, type internal
Redistributing via eigrp 1
Last update from 10.3.1.6 on Serial2/0, 00:00:26 ago
Routing Descriptor Blocks:
* 10.4.1.5, from 10.4.1.5, 00:00:26 ago, via Ethernetl/0
Route metric is 409600, traffic share count is 120
Total delay is 6000 microseconds, minimum bandwidth is 10000 Kbit
ReTiability 255/255, minimum MTU 1500 bytes
Loading 1/255, Hops 1
10.3.1.6, from 10.3.1.6, 00:00:26 ago, via Serial2/0
Route metric is 434944, traffic share count is 113
Total delay is 6990 microseconds, minimum bandwidth is 10000 Kbit
ReTiability 255/255, minimum MTU 1500 bytes
Loading 1/255, Hops 2

IJIzo;6 1Jpzle,ye IJolows

$>8p EIGRP IJodssule pg zols pelo,y wluw sles Iy 1de, eds 1Uslzos wdgwol. ol lo suvdd lue
slz> wldy !uuoglog;‘d&; EEIGRP ezl eds IJsbud ldpuwelz wgdss Je s> §Jwg |J EIGRP ,ob
Jmulticast eds o 9bu 19 seldz IJ suvede multicast EIGRP b, 9sgus 3JY 1o 250 Hello
9Update gQuery o p huwldol Il Bs o lzbs. Jl spdo odosy lzojs pzloys |Loldss ol Je
Supe wdysu i,oJ static neighbor v vdd Lo,s2 JodI IJiaoJ'é lJeeleyd eds wdI 1Jglzos.

Ispl sds JsBsé wdssu golj pezlyy wlow J- EIGRP:

<#froot>

router eigrp 1
passive-interface LoopbackO
network 10.0.0.0
no auto-summary

nei ghbor 10.1.1.1 Ethernet0/0

g pl sy JJ,@@})IQ lJe92926 eJs gluws IULoulb |Ji|p_) static neighbor. swp wJdosu lJgol)
IJeels):

<tfroot>



R1#

show i p ei grp neighbors detai

IP-EIGRP neighbors for process 1

H Address Interface Hold Uptime SRTT RTO Q Seq
(sec) (ms) Cnt Num
1 10.1.1.2 Et0/0 14 00:00:23 27 200 O 230

Static nei ghbor

Version 12.4/1.2, Retrans: 0, Retries: 0, Prefixes: 1

0 10.3.1.6 Se2/0 14 1d02h 26 200 O 169
Version 12.4/1.2, Retrans: 0, Retries: 0, Prefixes: 12
3 10.4.1.5 Et1/0 10 1d02h 16 200 0 234

Version 12.4/1.2, Retrans: 0, Retries: 0, Prefixes: 7

o sodds B8b sle> puwele wirss IJuwldo lwelosds pels le) subdd: lue suwobse
Jiebo lu lJpgwelz wisrss soelod IJ multicast EIGRP ;b 9lJIE ;) seglod IJ unicast EIGRP
ek

R1#

EIGRP: Received HELLO on Ethernet0/0 nbr 10.1.1.2
AS 1, Flags 0x0, Seq 0/0 idbQ 0/0

EIGRP: Ignore multicast Hello Ethernet0/0 10.1.1.2

R2#
EIGRP: Received HELLO on Ethernet0/0 nbr 10.1.1.1
AS 1, Flags 0x0, Seq 0/0 idbQ 0/0
EIGRP: Ignore unicast Hello from Ethernet0/0 10.1.1.1

S92> 1o, debug IJgl o JJizos6 1Upzle,s IJelows J- EIGRP:

<tfroot>
R2#

debug ei grp neighbors static

EIGRP Static Neighbors debugging is on

R2#

conf t

Enter configuration commands, one per line. End with CNTL/Z.
R2(config)#router eigrp 1



R2(config-router)#neighbor 10.1.1.1 et 0/0
R2(config-router)#end
R2#

EIGRP: Multicast Hello is disabled on Ethernet0/0!
EIGRP: Add new static nbr 10.1.1.1 to AS 1 Ethernet0/0

oul weuo IJluwoly 1o EIGRP Luldy luvolosds spdo gvdJe:

oo ore 0dsss gpdsle Idud Iy cruvol eds vwdle 1Usuosd Idpoess 390 Idws
(NBMA).

s loe 08 wdsss gpdsle IJue Idpeess eds suwlisb IJue (Ethernet) ig wzowol.

« luwegpdo lo sops (ee unicast uaJl po multicast).

.& wedsy Jl ode wodse IJie, passive-interface og 1Jio, ol EIGRP neighbor.

leho wyjse ldpuwble IJolows

el 0890 wodasy wozse Clow subs) IJs Slzes: yooe oebss IJpuwh wewlis G Js
w2pw EIGRP IJgluo wldpszo: umsee Iledlo go IJoszso IJelue wsluwlbs EIGRP Jel Jg Jl
euwbl poodl 1ie, redistribute static i9 1 gslw IS e,luos €6y plbdsw B odo IUzlJs.

router eigrp 1
network 10.0.0.0
network 172.16.0.0
no auto-summary
1

ip route 172.16.0.0 255.255.0.0 Serial2/0
!

<tfroot>
R1#

show ip eigrp top 172.16.0.0 255.255.0.0

IP-EIGRP (AS 1): Topology entry for 172.16.0.0/16
State is Passive, Query origin flag is 1, 1 Successor(s), FD is 2169856
Routing Descriptor Blocks:
0.0.0.0, from Rstatic, Send flag is 0x0
Composite metric is (2169856/0),

Route is Interna

Vector metric:
Minimum bandwidth is 1544 Kbit
Total delay is 20000 microseconds
Reliability is 255/255
Load is 1/255



Minimum MTU is 1500
Hop count is 0

IJe98909s6 920d 2umle IJOsIw
N cossy Il aowetsp 1Jpses856 98 Iezpsd Jeuwle Ipdlssos.

wbo, pedele 1Upse98s6 9ldepd B I)lz 11, show interface. Jl w925 wessole ssulpsdss
Jodo ldpedele gus wEss) Idzed Sldesesdss. bl oes) Idzed 9ldesesdss: Ju s2oe wEss)
Y98 Vs IJdsluw. B3b 131 G, EIGRP Luwld wessole lJs esolue vuvow wissle Ipgbl
B 1dzpd 91Jp9e9 st IJos uvsope wuiel spdu lu seae. 9eJlss eds 3Jd: spdu lu shss
luvesle IUzed 91p9esdss Jeuwlo IJBSIuw Is g3 IUluve @b s sop lole IJoszse
IJodss wes 3. Bl douo orge Os wéss) Iduszso el swsldy pe zed I8 1Je9).
OSgw edsd plels luuosle 0wy 25J8 p)9) wrasd Idouwpssd pogs Idwrgusdsdle
(MPLS) is w9z.s0 IJisle (PTR).

9236 IJpgldzo 1Jp,djs0 (CPU) 1Jeyo8g6
w9z oJIo gpdsle Juuswsdsd EIGRP wepd Vs 98w slzo:

* IJpgzo — celbd oo ldgpdiss pzesele 1U31,s Ideubo,ds.

* Hello — ¢y wd 030 IJgpdso zjp Hello gowododol sozlb gds looldle IJobs,).

o 1J9258 IJoploss 1dpuwewss 1s 1Je,9e9dsd (PDM) - sse e EIGRP Log pzesele pu
lJe9wedgdle: IP 9 IPV6 9 IPX 9 AppleTalk. wewys JJ pzpeses eJs PDM IJElLoé wol.
Bspl sds 9blisd PDM IJIwl jusé:

- oeldb gds eoled IUizoss 1dpzleys 9zs19d IJosId Jeszole EIGRP IJolugé Jozeoed
lJoy9esdedle oJ.

©od9pe vluuble 90,206 U 1UElL06 wldensesdsd J- DUAL (Luwld 25e EIGRP
sluwedulJol).

- 900d DUAL Gza9d Ideszso 1deess Jdws9esdsd.

- wpuwe IJ8sIuw 9o pss) Idpedsele |Us DUAL (wgol, DUAL Wb 1Jpeguble
lJJlz 96 sldpuwble 1UJIz 86 1Jedlises).

C oo Bslse IJe,ubse slJsuesd.

© oudd 9blis Jels weise pw lJs wiswsdsdle IJeszse IJig)s.

Ssel sds pold eds [Dle s9uoe 0o Idgpdsle Idedle:

<ffroot>
R1#

show process cpu | include El GRP

89 4 24 166 0.00% 0.00% 0.00% O IP-EIGRP



Rout er

90 1016 4406 230 0.00% 0.03% 0.00% O IP-EIGRP:
PDM
91 2472 6881 359 0.00% 0.07% 0.08% 0O IP-EIGRP:
HELLO

Loddlg CPU Bs EIGRP ¢ buses. 986 zld 2298 3J3. el 1o sIso Jss EIGRP IJJws,
JJBsle wo l9 1y ould bl Ws EIGRP. W IJzlJs IJlsds: w8l pu €3> IJobsle 9sS z29d
lJosdd 9g35 IJubb,le. we 9l pu 30 IUlwe @)l vsu puvble EIGRP gldlzojé 1deely,s.

EIGRP Ws Juvodle oyesd IUlbble (8lises luobl) o)

Bs Uvodle oypsd IUIbLle 2se w9zs £36 p9zole pzloys s 9lzoé wBbs [Js £36 wldlb.
SpIJu io SY9u oulJ 1Jgdss pu e 1o |_9 lJow ldpwess IJos sge buwldol. 9dosl IJgww .
92> Blisps luwbl) oo pudLods LiIY)le 1ot iso IJpsdws [JEluoo wol. wzwys Blispes
lowbl 1o gds l8d9ss eus buwldel wegsd 18d pu 1z IUI8Los 1Uss wp odssve 9ol
LS B3 bus pUesu JJublg IJe)s.

Bsel sds Uips [Jpuwegse B 03l I usobiss:

<ffroot>

frame-rel ay broadcast-queue size byte-rate packet-rate

9J3less g_|roa:|k_,)i CEULSUY 26 JIJ pesl8 louold houlb Iduslule (DLC. szo 1o sJdsu
eedd ldolse | 9d pu 03su:

» Ni4igogld 1z Ibos Jpesd Idsuesd £0 wes (sdluw worsle IJulse B 1Jeluss).
25 Subsy N 1Js £33 peydle DLCI Jes szw oyl IJus Jol.

¢ ot eexd 1Usuosd Ipeds (sdluw wopdle Idulse B 1Jeloss).

I3l Jlzbo g3l Jos,l po 1Jizos6 1pzloyé J- EIGRP IJposwivs: Bép wishs eze Blisps lowbl,
o u_)asJ IJlbble. Jl wegs 030 ldpuvdds WO 2lds 929> glzole uJasd Iblle Wesé Jo JJ
2920 pzl9) s 9106 L8)886 9lpré LIS IP W, ess peoduds. Log WS leouhd 03l JpJ
wxsd £ 929> Uvwds oopsd Ibhle Jus)s peslgds Llddled.

Ldle AS ¢, polole§s

gw> b¢ld 1Jle, debug eigrp packets hello. sbo, o 1Jeszo Jl suvedod ze Hello.



lJedé e IJodblss

sumetre EIGRP Jlple IJedgswe B 2293 ubods Iyssumss (Jubwdle A 9B 5C) wuidJ
lWe,)luos. 9sgus 3JY [ SUp ;9,3.)IU IJroqu_,Iu IJI-JU_, uz_.ns.ﬂ eu whsle 18 JduvwJdé
Iissumss po 1dwse Acaldeuuble 1UIde,) wpasl po wbiss 16 Jduieds I yssouss po
IJose Besldpumble IUIdeE, opassl oo wlsiss 124 JJuvodle 1dyssouss po lJuse Co gospl
Oew 22920l Vel sds pild 28 souwew IJodisue IJoddliss Bs z29¢ puvdJé:

10.0.0.0/8 172.16.0.0/16

y

10.0.0.0/8

Vs

99pl 09 p9 oz $Y9u JJpszosu R1IR3 pdee wdiliss yopw EIGRP JJpszo. suwede
IJesze R2 10.0.0.0/8 oo JJI lUpszosw R2 9 R3 Jiv IJ pu R29 R3 gulyé g0 pozole 2395 wsw
Uuwds 10.0.0.0/8 oy 106 I yssuvss A g 172.16.0.0/16. spdy 1o sI9o JJeszo R2 IJp wl,
10.0.0.0/8 g, R1 9 R3 3l 23¢ 1o IJpdsluw 09 odwo. slJl szoss IUpsze R2 eds 1wl
10.0.0.0/8 |l goy R1 19 gy R3: 9sewes 3J9 edis Ipuwb 13 suoe ewe 18 odJBds. s
ol leldeso: bl dlo szw eds 1Jpsze R2 buwld 2596 1es) IJs Ubedle B)e86 pesobd
10.0.0.0/8. BJl spdy o solds celel oo _9uo_9J 2,96 1Jp,9, 1Js 9zowol e Spdu lu woles
JuveJo 9,856 91226 10.0.0.0/8 |l eds suwl 3 Spesu wvelud IJgueds.

JJogdsU pu 236 030 Idp v dds: IJow wouywlbs no auto-summary Lopeo gpdsé EIGRP
IJglues wldesze. suubs Idpsze wes 3JY IJubodle 1Jd,ess JJubodle I)ssumss ew
1Jz29>. Vs luoshle Cisco 108 IJlzse sY9u lgsls no auto-summary o9 I wded IUIG el os.

wved e>w EIGRP

SEpd uved |3_.>|u EIGRP gJs IJoglb |a)|u EIGRP. _9;5qu 3JY gwspl sup wpdsu gpdslo
lJouoese J- EIGRP. 9pg 3Jd. s99u 18J wuivasuil 9sgpd wundd 180,luos. 9spdu



luweesleo JIdodlb Idipsle 1JIde,; Logsws Jluwed uldd 1igble wol sl odlzol Iy 1Jlzsle
IJIJe, o@bel. sJou o3l ldwzd 500 Lub, B il wuvdd lBe,luos. Jishs 35 Ilgub ) g
I._JIPJ eigrp event- Iog -size<0 — 209878>. 5pdud Jshbé gzpe IJuuaJ elJws) 1U3s oyssoc 9dIdu
uog_ O Ig_uul_)d IU IJ:>L9.>I_) lJ31,6 1U3s sgw Iu 5@,&]0 Upgao wo Jodl lduwed. Jpuwe uwed
Iz>le EIGRP. I>¢J 1Jie, clear ip eigrp events.

Isel sds pold:

<tfroot>

R1#

show i p eigrp events

Event information

1 09:
2 09:
3 09:
4 09:
5 09:
6 09:
7 09:
8 09:
9 09:
10 09:
11 09:
12 09:
13 09:
14 09:
15 09:
16 09:
17 09:
18 09:
19 09:
20 09:

01:
01:
01:
01:
01:
01:
01:
01:
01:
01:
01:
01:
01:
01:
01:
01:
01:
01:
01:
01:

36.
35.
35.
35.
35.
35.
35.
35.
35.
35.
35.
35.
35.
35.
35.
35.
35.
35.
35.
35.

107
991
967
967
943
943
943
943
943
943
923
923
923
903
903
903
903
903
903
903

for AS
Poison
Update
Update
Update
Update
Update
Update
Update
Update
Update
Update
Update
Update
Change

1:

squashed: 10.100.1.3/32 reverse

ACK: 10.100.1.4/32 Serial2/0

ACK: 10.100.1.4/32 Ethernet0/0

ACK: 10.100.1.4/32 Ethernetl/0
delay/poison: 179200 FALSE
transmitted: 10.100.1.4/32 Serial2/0
delay/poison: 179200 TRUE

transmitted: 10.100.1.4/32 Ethernet0/0
delay/poison: 179200 FALSE
transmitted: 10.100.1.4/32 Ethernetl/0
packetized: 10.100.1.4/32 Ethernet0/0
packetized: 10.100.1.4/32 Ethernetl/0
packetized: 10.100.1.4/32 Serial2/0
queue emptied, entries: 1

Route OBE net/refcount: 10.100.1.4/32 3

Metric

set: 172.16.1.0/24 2195456

Route install: 172.16.1.0/24 10.4.1.5

FC sat
FC sat

rdbmet/succmet: 2195456 2169856
nh/ndbmet: 10.4.1.5 2195456

Find FS: 172.16.1.0/24 2195456

wbo, Ig) IUlzsle B 1dze IJedss po Iduwed. spdod ouoWdss Iusle pesué pu lpsle EIGRP.
o&J DUAL gXmit 9lJu $J:

eigrp log-event-type {dual | xmit | transport}

9oldl ol 6 |Jis 53U spdud opdsu Idouwesd Jies ose dlugle IJedles: Iy pzeses oo
wogsw: 19 Jeese IUlusle IJodles. Bspel sds pold e swp 0pIdsu UIESU pu Idogwesd:

<tfroot>

router eigrp 1

redistribute connected
network 10.0.0.0



no auto-summary
eigrp log-event-type dual xmt

eigrp event-Tlogging
eigrp event-log-size 100000
!

.& LISt eV wedsu wuywesd l251& EIGRP. Bluo sbog ouvesd IJizsle 9sgivol B z29J
sl spdu 1o 8938 3JY [Js 929> Jpso Jus)o pu ldpd)zle 1Jplbwgss eJs 92506
lJoedp wpl SUbwo pl S2o8 g wpdsu wuoese EIGRP.

lJ v o Qu.éu.uo| |.Jp-3JQuug_J6 PU E_.JLJ L',Jb|p..§u puuQéJng
s EIGRP

ISl o IJogrd eds Ideuvh v gedsos EIGRP. spdu zeuiss o wgpd £pdisé 91228 B3b pu
gpdsle EIGRP gJs wouse Idoszse B RIB. w@e 1Jg pdss Slo 18d puwlds [hss
wotuss IJasese. Bl Jloe 1euwlds 1J11)sé 05 wduwol Buwedse IUgedss sl IUdsluw
IJI8J vovwse IJogese. Bl Jlo 1JBsluw 09 udywo lsuol Buue§9p £pJss EIGRP i
£, Jgpdsé EIGRP Lovwse lJoseso ¥s RIB. spdo 1o spess 229J pebob £poJsé EIGRP
1185 eds Jpuwh Ipeww pe €30 9293 Is gpdsle Jlzds 96506 FD gs) p22926.

Ssel sds pold:



<ttroot>
R1#

show i p eigrp topology 192.168.1.0 255.255.255.0

IP-EIGRP (

AS 1

): Topology entry for 192.168.1.0/24

State is Passive, Query origin flag is 1, 1 Successor(s), FD is 2681856
Routing Descriptor Blocks:
10.3.1.6 (Serial2/0), from 10.3.1.6, Send flag is 0x0
Composite metric is (2681856/2169856), Route is Internal
Vector metric:
Minimum bandwidth is 1544 Kbit
Total delay is 40000 microseconds
Reliability is 255/255
Load 1is 1/255
Minimum MTU is 1500
Hop count is 1
IP-EIGRP (

AS 2

): Topology entry for 192.168.1.0/24
State is Passive, Query origin flag is 1,

0 Successor(s)



FD i s 4294967295

Routing Descriptor Blocks:
10.4.1.5 (Ethernetl/0), from 10.4.1.5, Send flag is 0x0
Composite metric is (2681856/2169856), Route is Internal
Vector metric:
Minimum bandwidth is 1544 Kbit
Total delay is 40000 microseconds
Reliability is 255/255
Load is 1/255
Minimum MTU is 1500
Hop count 1is 1

<{froot>
R1#

show i p route 192.168.1.0 255.255.255.0

Routing entry for 192.168.1.0/24
Known via "eigrp 1", distance 90, metric 2681856, type internal
Redistributing via eigrp 1
Last update from 10.3.1.6 on Serial2/0, 00:04:16 ago
Routing Descriptor Blocks:
* 10.3.1.6, from 10.3.1.6, 00:04:16 ago, via Serial2/0
Route metric is 2681856, traffic share count is 1
Total delay is 40000 microseconds, minimum bandwidth is 1544 Kbit
Reliability 255/255, minimum MTU 1500 bytes
Loading 1/255, Hops 1

pedyple Sl LoJs
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Ujapw Cisco o3l Idpuu s wlgwdaslp papged pu ldU@us!o 1dIds?
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